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Planfestgestellt oder weitere Planénderung

‘ Gleise mit :
Strecken-Kilometrierung
103,17
_______________ ————————— Tunnel
Gradientenzeiger
ra = 5760.000 ra = Radius d. Gradientenausrundung
It = 101.516 = : ;
a = —0.895 It = Bogenlédnge d. Gradientenausrundung

a = StichmaRB d. Gradientenausrundung
-4.751 % = Gefélle

353.435 m = Lange Gefille

km 103,0+85 = km Strecke
NW=524.677 = Neigungswechsel

Injektionskérper

Bahnsteig

Bauwerk entfalit
(weitere Plan&nderung) -

Geplantes Bauwerk
(weitere Plananderung)

Personenverkehrsflache

Abbruchbereich

7. Plandnderung

entfalit

[J  Ersatzmast




